
INSTALLATION GUIDE  |  ROMAN SHADES UPDATED SEPTEMBER 2020 1®

Simple.  Smart.  Custom.

®

Simple.  Smart.  Custom.
INSTALLATION GUIDE

ROMAN SHADES

HARDWARE AND PARTS INCLUDED TOOLS REQUIRED

PENCIL STEP LADDER

PHILLIPS DRILL BIT

POWER DRILL

LEVEL

TAPE MEASURE

1/4” NUT DRIVER BIT

5/64” DRILL BIT

NOTE: Your roman shade has pre-drilled slots in the top of the headrail. You 
will use these slots as a guide for your bracket placement.

MOUNTING THE BRACKETS1.

INSIDE MOUNT

1. Grasp the shade by the headrail and hold it up inside the top of the window. Set it 
back until the front of the shade is flush with the wall. Hold the shade in place, and 
with a pencil, make a mark through each hole in the headrail. Set the shade aside.

2. Take a bracket and center the drop-bolt over each mark. Use the holes in the top 
of the bracket to mark where your two screws will go.

3. Pre-drill the screw holes for each bracket with a 5/64” drill bit. Align the brackets 
with the holes, and use a 1/4” nut driver bit (or Phillips drill bit) to securely fasten the 
screws.

PRE-DRILLED SLOTS
TOP OF HEADRAIL

Predrilled Slots

LIFT SYSTEMS:  CORDED LIFT  |  TOP DOWN BOTTOM UP  |  CONTINUOUS CORD LOOP  |  CORDLESS LIFT

  1
      2         3 The difficulty level of this installation is ranked at Level 1. A piece of cake!

If you have questions or get stuck, call our Customer Care Team at 888-257-1840, or email customercare@selectblinds.com

INSIDE MOUNT 
BRACKET

OUTSIDE MOUNT 
BRACKET

SCREWS WINGNUT

FRONT

DROP-BOLT

OUTSIDE MOUNT

1. Center and hold the headrail at least two inches above the 
window. While keeping the shade level, make a small line with 
your pencil just above each of the pre-drilled holes in the headrail. 
Set the shade aside. 

2. Align the top edge of a bracket along each mark, and use the 
holes in the back of the bracket to mark where your two screws 
will go.

3. Pre-drill the screw holes for each bracket with a 5/64” drill bit. 

4. Align the brackets with the holes, and use a 1/4” nut driver bit 
(or Phillips drill bit) to fasten the screws in place. 

2” - 4” 

FRONT

BACK



INSTALLATION GUIDE  |  ROMAN SHADES UPDATED SEPTEMBER 2020 2®

Simple.  Smart.  Custom.

INSIDE AND OUTSIDE MOUNT

1. Remove the wingnuts from the brackets if you 
haven’t done so already. 

2. With the front of the shade facing you, fit the 
pre-drilled holes of the headrail to each of the 
drop-bolts on the brackets. 

ATTACHING THE SHADE2.

3. While holding the headrail to the brackets with one hand, use your other hand to attach each of the wingnuts to the drop-bolts. 
Tighten the wingnuts until the shade is firmly held in place. 

To complete your installation, follow the instructions below that match with the lift 
style you have. 

INSTALLING CORD CLEATS
CORDED LIFT AND TOP DOWN BOTTOM UP

NOTE: Shades with cords present a strangulation risk for young children and pets. 
Cord cleats are included as an important safety feature. Please follow the steps 
below to properly install them. If you need extra cord cleats, call our Customer Care 
team and we’ll send them to you for free.

1. Place the cord cleat inside, or next to the window frame, so it’s well out of reach 
of small hands and paws (typically 4’-5’ above the floor). For inside mount, be sure 
the cleat is set behind the fabric, close to the window. 

2. Use your pencil to mark through the holes in the cord cleat. You can pre-drill a 
hole with a 5/64” drill bit to make the screw easier to install, if you prefer.  

3. Align the hole in the cord cleat with your mark and attach with screw provided. 
Do NOT over-tighten the screw!

4. With the cord cleat attached, you may now safely tuck the cords away after each 
use of the shade. OUTSIDE MOUNT

ADDITIONAL INSTRUCTIONS3.

INSIDE MOUNT

SCREW 
HOLES

INSTALLING CORD TENSIONER
CONTINUOUS CORD LOOP

NOTE: Cord tensioners are used to ensure the smooth operation of your 
shade and to help protect children from getting tangled in loose cords. 
The goal is to make the cord taut, but still slightly loose. 

1. Pinch the tensioner to release its grasp on the cord. Pull it to the 
bottom of the cord loop while keeping it pinched together.

SCREW HOLES

CORD LOOP

FRONT BACK



INSTALLATION GUIDE  |  ROMAN SHADES UPDATED SEPTEMBER 2020 3®

Simple.  Smart.  Custom.

INSIDE MOUNT

A. Place the tensioner against the inside of the window and 
     keep the cord pulled tightly. Shift it up about 1/8”, then 
     make a mark at the screw hole. 
B. Move the cord away and use the marks to pre-drill screw 
     holes with a 5/64” drill bit. 
C. Align the tensioner with the pre-drilled holes and fasten the 
     1-1/4” screws, being careful NOT to over-tighten the screws. 

OUTSIDE MOUNT

A. Place the tensioner against the wall while keeping the cord 
     pulled tightly. Shift it up about 1/8”, then make a mark at the 
     screw hole. 
B. Move the cord away and use the marks to pre-drill screw holes 
     with a 5/64” drill bit. 
C. Align the tensioner bracket with the holes and fasten the 1 
     1/4” screws, being careful NOT to over-tighten the screws. 

2. Now just test to make sure the shade works properly. Pull on 
the front of the cord loop to raise the shade, and pull on the back 
cord to lower the shade. 

ADJUSTING SPRING TENSION
CORDLESS LIFT

NOTE: To adjust the speed at which you want to raise or lower your 
shade, find the adjustment wheel on the end of the roller tube in the 
headrail and follow the instructions below to adjust the spring tension.

If the adjustment wheel is on the LEFT:

1. Raise the shade fully to the top. Grasp the tube with your right hand 
and make sure it does not rotate. 

2. If your shade rises too slowly, turn the wheel toward you to increase 
the tension; if too fast, turn it away from you to decrease the tension.

3. Test the shade by lowering then raising it again. Repeat these steps 
until you are satisfied with the tension of your shade.

INCREASE
TENSION

DECREASE
TENSION

PULL-RING OPERATION
CORDLESS LIFT

WARNING: Never pull on the bottom hem bar to operate the shade. 
This can cause damage to the internal components. 

1. Lift the bottom of the shade to find the pull-ring on the back. It is 
located near the bottom hem bar, in the center of the shade. 

2. Gently pull straight down from the ring to lower the shade, and give 
it a light tug to lock the shade in position. To raise the shade, hold the 
pull-ring and slightly tug to release the cord lock.

PULL-RING

INSIDE MOUNT

OUTSIDE MOUNT



INSTALLATION GUIDE  |  ROMAN SHADES UPDATED SEPTEMBER 2020 4®

Simple.  Smart.  Custom.

Corded window blinds and shades can be a strangulation risk or cause serious injury to young 
children and pets. When using corded window treatments, use the following tips to keep them safe:

• Move furniture that children can climb on away from the window.
• NEVER place a crib by a window!
• Keep cords up and away from your child’s reach. 
• Always use cord cleats with corded products. 
• Secure child-safe tensioners for continuous cord loop chains to the wall or window encasement.

WARNING

INCREASE
TENSION

DECREASE
TENSION

If the adjustment wheel is on the RIGHT:

1. Raise the shade fully to the top. Grasp the tube with your left hand 
and make sure it does not rotate. 

2. The images show which direction to turn the wheel to increase or 
decrease tension. If your shade rises too slowly, turn the wheel away 
from you to increase the tension; if too fast, turn it toward you to 
decrease the tension.

3. Test the shade by lowering then raising it again. Repeat these 
steps until you are satisfied with the tension of your shade.

CLEANING INSTRUCTIONS
NOTE: All fabrics are different and some may be easier to clean than others. We recommend cleaning your shades as often as 
once a month. Here are some general guidelines on how to do so:

1. For regular maintenance, use a duster or a vaccum with a brush attachment and run it over the front and back of the shade. 

2. To spot clean stains, use a damp rag with a very mild, gentle detergent or soap. Dab at the affected spots; do NOT rub! Let the 
dampened area air-dry and repeat as necessary. 

3. If your roman shade has wrinkles, you can use a basic steamer to remove them. Hold the steamer roughly six inches away from 
the fabric and wave the steamer back and forth over the wrinkled areas. 

WARRANTY AND REPLACEMENT

To learn more about our product warranties, please visit:

https://www.selectblinds.com/warranty.html

For replacement parts, and/or to file a warranty claim for a product that is damaged, defective, or missing parts, please call our 
Customer Care Team at 888-257-1840, or email custovmercare@selectblinds.com. 

CHILD SAFETY WARNING



GUIA DE INSTALACIÓN  |  CORTINAS ROMANAS ACTUALIZADO EN SEPTIEMBRE 2020 1®

Simple.  Smart.  Custom.

®

Simple.  Smart.  Custom.
GUIA DE INSTALACIÓN

CORTINAS ROMANAS

HARDWARE Y PARTES INCLUIDAS HERRAMIENTAS REQUERIDAS

LÁPIZ ESCALERA DE 
MANO

TALADRO ELÉCTRICO

NIVELADOR

CINTA MÉTRICA

BROCA DE CONDUCTOR 
DE TUERCA DE 1/4”

BROCA PHILLIPS

BROCA DE 5/64”

NOTA: Tu cortina romana cuenta con ranuras pre-perforadas en la cima del 
riel. Tú utilizarás esas ranuras como guía para la ubicación de tu soporte.

MONTANDO LOS SOPORTES1.

MONTAJE INTERIOR

1. Agarra a la cortina por el riel y mantenla alzada dentro de la parte más alta de la ventana. 
Ajústala hasta que el frente de la cortina esté alineada con la pared. Mantén a la cortina en su 
lugar y haz una marca con tu lápiz a través de cada hoyo en el riel. Luego dejas la cortina de lado.

2. Toma un soporte y centra al perno sobre cada marca. Utiliza los hoyos de arriba en el soporte 
para demarcar dónde irán los dos tornillos.

3. Pre-perfora los orificios del tornillo para cada soporte con una broca de 5/64”. Alinea a los 
soportes con los orificios y utiliza una broca de conductor de tuerca de 1/4” (o Broca de tuerca 
Phillips) para asegurar los tornillos de forma segura.

RANURAS PRE-PERFORADAS
TOP OF HEADRAIL

Predrilled Slots

SISTEMAS DE ELEVACIÓN:  ELEVACIÓN CON CUERDAS  |  DE ABAJO HACIA ARRIBA  |  CABLE DE BUCLE CONTINUO  |  INALÁMBRICA

  1
      2         3

El nivel de dificultad de esta instalación es de Nivel 1. ¡Pan comido!
Si tienes preguntas o te atascas, llama a nuestro Equipo de Atención al Cliente al 888-257-1840, o envíale un email a 
customercare@selectblinds.com

SOPORTE DE 
MONTAJE INTERNO

SOPORTE DE 
MONTAJE EXTERNO

TORNILLOS TUERCAS

FRENTE

PERNO

MONTAJE EXTERIOR

1. Centra y mantén el riel al menos dos pulgadas por arriba de la 
ventana. Haz una línea fina con tu lápiz justo sobre cada hoyo pre-
perforado en el riel mientras mantienes la cortina firme.  

2. Alinea al borde de arriba de cada soporte con su marca 
correspondiente, y luego utiliza los hoyos de la parte trasera del 
soporte para demarcar dónde irán tus dos tornillos.

3. Pre-perfora los hoyos de tornillo para cada soporte utilizando 
una broca de 5/64”. 

4. Alinea a los soportes con los hoyos y utiliza una broca de 
conductor de tuerca de 1/4” (o broca Phillips) para asegurar a los 
tornillos en su lugar. 

2” - 4” 

FRENTE

ATRÁS



GUIA DE INSTALACIÓN  |  CORTINAS ROMANAS ACTUALIZADO EN SEPTIEMBRE 2020 2®

Simple.  Smart.  Custom.

MONTAJE INTERNO Y EXTERNO

1. Quita las tuercas de los soportes si todavía no 
lo has hecho. 

2. Con el frente de la cortina de frente a ti, ajusta 
los hoyos pre-taladrados del riel a cada perno en 
los soportes. 

ADJUNTANDO LA CORTINA2.

3. Mientras sostienes el riel a los soportes con una mano, utiliza la otra para ajustar cada tuerca a los pernos. Asegura las tuercas 
hasta que la cortina esté firmemente asegurada.

Para completar tu instalación, sigue las instrucciones de aquí abajo para combinar 
con el estilo que tienes.

INSTALANDO LAS CORNAMUSAS
ELEVACIÓN CON CUERDAS Y DE ARRIBA PARA ABAJO-ABAJO PARA ARRIBA

NOTA: Las cortinas y persianas con cuerdas presentan un riesgo de estrangulación 
para niños pequeños y mascotas. Las cornamusas están incluidas como una faceta 
importante de seguridad. Por favor, sigue los pasos delineados abajo para instalarlas 
de forma apropiada. Si necesitas cornamusas adicionales, llama a nuestro Servicio 
de Atención al Cliente y te las enviaremos gratis.

1. Ubica a la cornamusa adentro o al lado del marco de la ventana para que de esa 
manera esté fuera del alcance de manos pequeñas y patas (típicamente 4-5 pies 
por encima del piso). Para montajes interiores, asegúrate de que la cornamusa esté 
ubicada detrás de la tela y cerca de la ventana.

2. Utiliza tu lápíz para demarcar el hoyo en la cornamusa. Puedes pre-taladrar un 
hoyo con una broca de 5/64” para facilitar la instalación del tornillo, si así lo prefieres. 

3. Alinea al hoyo de la cornamusa con tu demarcación y colócalo con el tornillo que 
te proveímos. ¡NO ajustes de más al tornillo!

4. Una vez que la cornamusa está adjunta, ahora podrás guardar las cuerdas tras 
cada uso de la cortina.

MONTAJE EXTERIOR

INSTRUCCIONES ADICIONALES3.

MONTAJE INTERIOR

HOYOS PARA 
TORNILLOS

INSTALANDO EL TENSIONADOR DE CUERDAS
BUCLE DE CABLE CONTINUO

NOTA: Los tensionadores de cuerdas se utilizan para asegurar la 
operación normal de tu cortina y para proteger a los niños de enredarse 
en las cuerdas. El objetivo es que la cuerda sea resistente pero también 
un poco floja a la misma vez.

1. Pincha al tensionador para liberar la cuerda. Tira hasta la parte más 
baja del bucle de cable mientras lo mantienes adjuntado al pinchar los 
dos lados juntos.

AGUJEROS DE 
TORNILLOS

BUCLE DE CABLE

FRENTE ATRÁS



GUIA DE INSTALACIÓN  |  CORTINAS ROMANAS ACTUALIZADO EN SEPTIEMBRE 2020 3®

Simple.  Smart.  Custom.

MONTAJE INTERIOR 

A. Coloca al tensionador contra la parte interna de la ventana y mantén 
     la cuerda un poco tirante. Elévala aproximadamente 1/8” y luego haz 
     una marca en el hoyo del tornillo. 
B. Mueve la cuerda a un lado y utiliza las marcas para pre taladrar hoyos 
     para tornillos con una broca de 5/64”.
C. Alinea al tensionador con los hoyos que pre taladraste y asegura los 
     tornillos de 1-1/4”, pero ten cuidado de NO atornillarlos de más.

MONTAJE EXTERIOR

A. Ubica al tensionador contra la pared y mantén la cuerda tirante y bien 
     firme. Elévala aproximadamente 1/8” y luego haz una marca en el hoyo 
     del tornillo.
B. Mueve la cuerda a un lado y utiliza las marcas para pre-taladrar hoyos 
     para tornillos con una broca de 5/64”. 
C. Alinea al soporte del tensionador con los hoyos y asegura los tornillos 
     de 1-1/4”, pero ten cuidado de NO atornillarlos de más.

2. Ahora simplemente haz la prueba y asegúrate de que tu cortina funciona 
de forma apropiada. Tira del frente de la cuerda para alzar la cortina y de la 
parte trasera para bajarla. 

AJUSTANDO LA TENSION DE LOS RESORTES
ELEVACIÓN INALÁMBRICA

NOTA: Para ajustar la velocidad a la que quieras elevar o bajar tus cortinas, 
encuentra la rueda de ajuste al final del tubo de rodillo en el riel y sigue las 
siguientes instrucciones para ajustar la tension del resorte.

Si la rueda de ajuste está en la IZQUIERDA:

1. Levanta la persiana hasta lo más alto del todo. 

2. Agarra al tubo con tu mano derecha y asegúrate de que no rote.

3. Si tu cortina se alza demasiado lentamente, gira la rueda hacia ti para 
incrementar la tensión. Si es demasiado rápida, la alejas de ti para bajar 
dicha tensión.

INCREMENTAR 
TENSIÓN

BAJAR  
TENSIÓN

ANILLO DE TIRO
ELEVACION INALÁMBRICA

ADVERTENCIA: Nunca tires de la barra del dobladillo para operar la cortina. 
Eso podría llegar a causarle daño a los componentes internos. 

1. Eleva la parte baja de la cortina para encontrar el anillo de tiro en la parte 
trasera. Está localizado cerca de la barra inferior del dobladillo en el centro 
de la cortina. 

2. Tira del anillo gentilmente para bajar la cortina, y luego dale un tironcito 
suave para asegurar a la cortina en su lugar. Para elevar la cortina, sostén al 
anillo y tira suavemente de él para liberar al bloqueo de la cuerda.

ANILLO

MONTAJE INTERIOR

MONTAJE EXTERIOR



GUIA DE INSTALACIÓN  |  CORTINAS ROMANAS ACTUALIZADO EN SEPTIEMBRE 2020 4®

Simple.  Smart.  Custom.

INCREMENTAR 
TENSIÓN

BAJAR  
TENSIÓN

Las persianas y cortinas para ventanas con cuerdas podrían llegar a posar un riesgo de 
estrangulación o de lesión severa para niños pequeños y mascotas. Utiliza las siguientes 
recomendaciones para asegurarte su bienestar con las coberturas para ventanas con cuerdas:

• Mueve los muebles que los niños puedan trepar lejos de la ventana.
• ¡NUNCA ubiques a una cuna al lado de la ventana!
• Mantén a las cuerdas elevadas y lejos del alcance de los niños.  
• Siempre utiliza los aseguradores de cuerdas para productos con cuerdas. 
• Asegura a los tensionadores seguros para niños a una cadena de bucle de cable continuo 

contra la pared o el revestimiento de la ventana.

ADVERTENCIA

4. Prueba la cortina al bajarla y subirla nuevamente. Repite estos pasos 
hasta que estés satisfecho con la tensión de tu cortina. 
 
Si la rueda de ajuste está en la DERECHA:

1. Levanta la persiana hasta lo más alto del todo. 

2. Agarra al tubo con tu mano derecha y asegúrate de que no rote.

3. Las imágenes te indican la dirección en la cual debes girar la rueda para 
incrementar o rebajar la tensión. Si tu cortina se alza demasiado lentamente, 
aleja la rueda ti para incrementar la tensión. Si es demasiado rápida, la giras 
hacia ti para bajar dicha tensión.

4. Prueba la cortina al bajarla y subirla nuevamente. Repite estos pasos 
hasta que estés satisfecho con la tensión de tu cortina.

INSTRUCCIONES DE LIMPIEZA
NOTA: Todas las telas son distintas y algunas podrían llegar a ser más fáciles de limpiar que otras. Nosotros recomendamos 
limpiar tus cortinas al menos una vez al mes. A continuación te explicamos como:

1. Utiliza un plumero o una aspiradora con un cepillo adjunto y recorres la cortina de frente y por detrás para mantenimiento de 
rutina. 

2. Para descubrir manchas, utiliza un trapo húmedo con un detergente o jabón suaves. Salpica los rincones afectados, ¡NO frotes! 
Deja que la zona mojada se seque al aire libre y repite cuantas veces sea necesario.

3. Si tu cortina romana tiene arrugas, tú puedes utilizar un limpiador a vapor básico para quitarlas siempre y cuando lo mantengas 
a seis pulgadas de distancia de la tela y lo muevas de atrás pára adelante en las zonas arrugadas.

GARANTÍA Y REEMPLAZO
Para saber más sobre las garantías de nuestro producto, visita:

https://www.selectblinds.com/warranty.html

Para partes de reemplazo y/o reclamar una garantía para un producto dañado, defectivo o con partes extraviadas, por favor 
contacta al Equipo de Servicio al Cliente llamando al 888-257-1840 o enviando un email a customercare@selectblinds.com.

ADVERTENCIA DE SEGURIDAD DE NIÑOS


	Horizons Roman PDF Instructions (Final)_Downscaled_English
	Horizons Roman PDF Instructions (Final)_Downscaled_Spanish

